
Exhibit S3. A proof that the change in sBrier upon addition of new marker(s) is equal to 

the IDI index.  

We use a star in superscript to denote the prediction model with the new marker(s) 

added. First, we note that the prediction models with and without the new marker(s) are 

to be applied to the same population and that both models are unbiased. Therefore, 

*
.p p=  With simple algebra, we next show that the change in sBrier upon addition of 

new marker(s) is equal to the IDI index:  
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